KS Tools Werkzeuge und Maschinen GmbH

Seligenstadter Grund 10-12
63150 Heusenstamm

g

e DOOOoboobboooo
4, booboooboooan

oo, gbol

e O0O0Ooooon, bg, o

oooo

e Jooooooboooboog

e O000oooooo
e DOOOoboobboooo

t
e Joogo

e D000oobooo

113 [J[INirostahl (1100011 M6-M14

0000 150.6160
EAN( 4042146328101

ad

Material1: [10](]

Material2: [(1(1(]

J002 ooog

0000 mm: 248

0000 mm: 367

000 mm: 36

oooo: M6 - M14

joood: 113

0 g: 2515

[ (=]
oo
o o e Dooooo

ooooooo

150.6011 1x [] 10 (100000, M6x1,0, 8mm ooooooooo
150.6012 1x E| o000 Me, @ 6,3mm 000000000
150.6013 1x E| 0000000 M6x1,0 0000 0oooooogo
150.6014 1x E| 000000 M6 ooooooodo
150.6015 1x E| 10 M6 0ooonoooo
*0000000oooo
goboboooooo 1/2



I

KS Tools Werkzeuge und Maschinen GmbH

Seligenstadter Grund 10-12
63150 Heusenstamm

150.6025 1x [¢] 0 M7 /M8 ufu|a[s]a]alafa]s
150.6032 1x [x] 00000 M8, @ 8,3mm 000000000
150.6034 1x [x] SISISISISIRE Y alalalalalalulaln
150.6041 1x E 10 L0000, M8x1,25, 10.8mm 0oooooonoo
150.6043 1x [x] QOO0 M8x1,25 [0 alalalalalalatals
150.6064 1x [x] 000 M10x1,0 alalalalalalulaln
150.6065 1x [¢] 0 M10 ulu|a[s]a]alafa]s
150.6081 1x [x] 5 000000, M10x1,5, 13.5mm alalalalalalalals
150.6082 1x E 0oooo M10, @ 10,4mm 000000000
150.6083 1x [x] 000000 M10X1,5 DT 000000000
150.6104 1x [x] SISISISISISE V1P alalalalalalalals
150.6105 1x [x] 00 M2 000000000
150.6122 1x |E| Ooooo M12, @ 12,4mm ooooooooo
150.6131 1x | 5 000000, M12x1,75, 16.3mm alalalalalalalala
150.6133 1x [x] Q000000 MI2x1,75 D000 alalalalalalulals
150.6141 1x |E| 5 000000, M14x1,25, 16.4mm 000o00o0oo
150.6142 1x | 5 000000, M14x1,25, 12.4mm alalalalalaalala
150.6143 1x E 5 00000, M14x1,25, 8.4mm 000000000
150.6144 1x ] O0/000 M14x1,25 alalalalalalutals
150.6145 1x [x] Q00000 M14x1,25 alalalalalaalala
150.6146 1x |E| 000, M14x1,25, 16.4mm, 5 (10 000000000
*00000000000

00000000000 212



